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1.	 e. ~M;. "'- A ~ [~ ~]. t;\'..;J<.M;. "'-A ~~iIt ~ ~ A.chA(x) • at Il}j chA(A) ~ 0 • 

(10~) 

XI - 2x2 + X 3 =1 

-2x -x +x =-2I 2 4 

3x1 +X2 +X4 =5 

- X2 + 2x3 + X4 =4 

3.	 e.~M;. "'- A ~ [~ ~]. t;\'..;J<.M;. "'- A ~~iIt-lUI.. ~JIl:. f.J f: · .Jt*1111 ~ JIl:. f.J 
"~A~,*1t ~1t.&*AlOO (20~)0 

4.	 mr9IJ~**WI-*l~~~i(: 

(1)	 xy'+ y =y2 (~~.*l~~~i( Separable Differential Equation) 

(15 ~) 

(2)	 2.+ y + (3y 2 + x)y' = 0 (.iE...g.*l~~~i( Exact Differential 
X 

Equation) (15 ~)0 

(3)	 y"-2y'+lOy =20x2 +2x-8 -,1t~M- (~ut~it* Method of 

Undetennined Coefficients) (20 ~)0 
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